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Important Instructions :

1.

2.

Immediately fill in the particulars on this page of the Test
Booklet with Blue/Black Ball Point Pen.

This Test Booklet consists of three parts - Part I, Part IT and
Part I11, Part 1 Aptitude Test has 50 objective type questions
consisting of FOUR (4) marks for each correct response.
Part I1 has 30 objective type questions of Mathematics
consisting of FOUR (4) marks for each correct response.
Mark your answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use Blue/
Black Ball Point Pen only for writing particulars/marking
responses on Side-1 and Side-2 of the Answer Sheet. Part 111
consists of 2 quegtions carrying 70 marks which are to be
attempted on a separate Drawing Sheet which is also placed
inside the Test Booklet. Marks allotted to each question are
written against each question. Use colour pencils or crayons
only on the Drawing Sheet. Do not use water colours. For
each fncorrect response in Part 1 and Part 11, one~fourth (Vi)
of the total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

There is only one correct response for each question in Part |
and Part II. Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.
The test is of 3 hours duration. The maximum marks are 390.
On completion of the test, the candidates must hand over
the Answer Sheet of Aptitude Test and Mathematics-Part I
& II and the Drawing Sheet of Aptitude Test-Part III
alongwith Test Booklet for Part 1II to the Invigilator in the
Room/Hall. Candidates are allowed to take away with
them the Test Booklet of Aptitude Test-Part I & II.

The CODE for this Booklet is |.. Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet.
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Part I / 9T I bk
Aptitude Test / if¥&fa wieror |

Directions : (For Q. 1 and 2). How many minimum number of straight lines are required to draw
the problem figure ?

FEvr: (W1 9ik2 Ry A9 @ T T o @) w & g v % w5, fad AR |
HT STVIHA & 7

Problem Figure / ¥ 37pld . ¥
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e figure shows a vjmé‘gf;&in object. Identify the

om amongst the aligwer figures, looking in' the
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g__'_f_f__i" Irections : (For Q. 7 and 8). How many total number of triangles are there in the problem figure
given below ?

O M (w7ois H ) A9 e sy # e o e e ot 2
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Y

) 10 B) 9 W 11

SPACE FOR ROUGH WORK / T% & & fog g

.
Qcollegedunlas
India’s largest Student Review Platfor: m




ections { (For Q. 9 to 11). Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

.-(,a:9#11%f€-rr§r):- ST SFHIaT § G HITH] SFId G TG FIH SFId # X - X T Gara

| Tet g4y wfefaer & 2 ; ,
roblem Figure | 9¥7 Std " Answer Figures / W STFlaal ‘
X
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’ X
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X

| &

(1) N @ @)
Directions : (For Q. 12.and 13).  The problem figure shows the elevation of an .object. Identify the
' correct top view from amongst the answer figures.

FIr : (W 129113 % RIg)1 597 anefar 3 forah g 7 9@ §V9 RGIl T 1 SR Sl d &
G 39 9 F9U 599 9gHIq/ :
Problem Figure / F¥7 Shld Answer Figures / S GW?FI??‘T’

, - (1) N asa/ @

(1) @ @)

L/Page 4 SPACE FOR ROUGH WORK / % &Td & fag <ivg

@collegeduniaé
India’s largest Student Review Platform

;&i



i
Wihich
probl

R

(sequence) YT 619

-~

2

Directions : (For Q. 15 and 16).  Which one of the answer figures, shows the correct view of the 3 - D
problem figure, after the problem figure fs opened up 7

T : (715 3T 16 & @)1 3- D F97 37517 % @ mwﬂﬂ##’mmﬁww
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‘Directions : (For Q. 17 to 22).  Find out the total number of surfaces of the object, given below in the

problem figure.

faor: (W 17 @22 & fera )i mmﬁﬁwﬁwa@ﬁmﬁaﬁ@ﬁm#ﬁaﬁﬁm

Problem Figure / ¥¥9 31&id
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| 2) 14 3) 13 4) 15
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One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, which one is correct ? M

T : (W23 9124 3 forg )1 A9 G 7 SR Sl § G e wrgia A9 SR e 7 gA w9 9
g7 afrfa 4 fodt &1 @i 9t @@l & g

‘Problem Figure | 999 3Tl Answer Figures | 3 ST@a

irections : (For Q. 23 and 24).

: E/ o I A
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Directions : (For Q. 25 and 26).  The problem figure shows the top view of objects. Looking
' direction of arrow, identify the correct elevation, from amongs
answer figures.

Fasr : (.25 31 26 @& fo7g )1 397 sTrfa 7 aRqoil &1 S0 g fo@rar T €1 T 7 19 Hg
8T I SFFl H | FHH Ggl THE G¥ YA/

Problem Figure | W97 371l Answer Figures / I STHiaar
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Directions : (For Q. 27 to 30).  Find the odd figure out in the problem figures given below :
Frder : (.27 @30 % forg) 1 e & 7 e el W e et sard |

Wb d
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The 3 - D problem figure shows the view of an object. Identify, its
correct top view, from amongst the answer figures.

Fdor: (%31 @33 & @)1 3-D 3% sghla 9 o a5 &1 3@y 71 &1 $9%1 9@ 9 399
ST ShFadl 4 G @I/
Problem Figure / F¥7 3WFld Answer Figures / 3T afaal

Directions : (For Q. 31 to 33).
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Problem Figure / 597 3l Answer Figures /| 30 S-TF?"ﬁR?f

T L ] B3 [
- WY

3.. — 1 Cfed e

(1) @) M (4)

4l Directions : (For Q. 34 and 35). The problem figure shows the top view of an object. Identify the
. correct elevation, from amongst the answer figures, looking in the
direction of arrow.

AT : (% 34 3735 & forg ) Wwﬁﬁwmwmmﬁ@ww?zﬁ?#ﬁmﬁ
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wasbuilt by : | 86, YR e Y SEET o ;
‘ ) | @ w3
| 2) A
@) SR
@ weRd
mong the foIlowmg is not an | 37. TEERR el & 7
:.MF Hussam\/ (7 ) (1) Eﬁl@gﬁ? o
Hafiz Contractor (2) FHS {_‘. w ::”
(3) Raj Rewal | @ www
| (4) Zaha Hadid (4) SR
g
What secondary colour is obtained by | 38. i 3R @ra Tt 1 evw . fagm & wiman
, mixing blue and red colours ? T (secondary) T fatm? - e
’ () Purple v g ) | (1) '
_ (2) Orange (2) =R T
d (3) Brown (3) @
(4) Pink (4) Taw
397 Lotus Temple in Delhi was built by : * = | 39. feeeft %1 witew wf<y et wm? -
(1) Jains il R 1) e '
(2) Bahais\.”" LL) : @) Y
(3) Muslims | (3) Tl 3
(@) Jews f | (4) R A
i
;K. Which one of the following is not a | 40. freifera 5 | SE-T1 9= AE 78 @@y
matching set ? ' !
(1) Washington - White House (1) <R - =EE TSN
;_;)/ Egypt - Mississippi Riv& (. "2_) ) fra - frsfad <fan
' (3) England - 10 Downing Street (3) TS - 10 SHEAT Hie
(4) San Francisco - Golden Gate Bndge (4) 99 wifgEs! - Mes 12 =
=1 | L/Pagen SPACE FOR ROUGH WORK / T& &1 & fo1g wve
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41. Which one of the following is not an
earthquake resistant structure ?
(1) Load bearing brick walls bM
-(2)  Steel framed building (|

(3) Timberframed building
(4) RCC framed structure

MWhich one of the following is an odd
match ?

(1) _Ozone layer - UV rays

MShrinking Polar Caps - Eartth

(3) Tsunami - Oceanic Earthquake &Z

(4) ,Deforestation ~ Climate change

‘A{jWhich one of the following is an odd
match ?

(1) Cold and Dry - Ladakh
_{2f Temperate - Shimla

(3) Hot and Dry - Jaisalmer

(4) Hot and Humid - Chennai

JAﬂ What is texture ?

(1) - A type of shape ,
(2) Lines drawn in one colour
\_(,Sﬂ/’ The way a surface looks an(qlf}e{g/)

454 Which one of the following is a sound
reflecting material ?

(1) Jute cloth

(2)

(4) A solid colour

41.

42,

43.

| 44.

45,

Frerifa @il 3 @ i e e $2

(1) R A 9] $20 H Far F TR
(2) & F %Y Y T gHRa

(3) THS F HH ¥ 99 AN

(4) SRHELH. FH w e

ﬁﬁ%ﬁ@ﬁﬁmﬂwﬁaﬁﬁ@m?

(1) 3iEE ® o - g9 w5
(2) ydta It =t fageT - @
(3) FAM! - HEMIRIG Y&y

(4) TA-TIIY - Serarg IR

T W HE-9 U A e ?

(1) J%1 IR gE - TRE

(2) Y™ (Temperate) - fore
(3) 7 3R @ - FHAHR

(4) TH SR T -

Tgfa #n g ?

(1) TH qE A1 AHR

2) T T e T e

3) ?vwwmﬁ@?ﬁaﬂiwa‘m

(4) THIFW

T ¥ -, s e gen § 7

(1) W& H I

2 Glass l/’ CJ?/> (2) =
(3) Fabric (3) HYST
(4) Thermocol ¥ (4) oHIRIA
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_;'\'.'_-Ient. friendly \L/

0od colour
' }’cially

Granite QZ[’ )
Fly ash\/

| ¥

Buckingham Palace is located in :

(2) Geneva
(3) Singapore
(4) Paris

London

()

Which one of the following is not a
matching set ?

(1) Varanasi - Ghats

(2) Jaipur - Canals QZ)
3" Udaipur - Lakes

(4) Sundarbans - Mangroves

s &
S 4 y do large industrial buildings have

= high located glazing on the North side ?

(1) To stop the workers from looking

outside. .

(2) To get uniform sﬁgﬁow - less light
through the day.

(3) ~ Because the sun stays on the North
side throughout the day.

_w’{ To Wunﬁght throughout the
b .

day!

()

46.

47.

48.

49.

50.

% fel =it angsren &1 SieameT fGar s &
e

(1) e iR & STIFT €

(2) F% R AF el §

(3) TUTE FWINR

(4) - 39 o H ww wd g g

daml = T G forg, Fretifera § @ S
were STUt HE SRR W R T foRa s
wEa?

(1) 8w

(2) wEE (AXER)

(3) WL

(4) RME T

afeam Torm el feerd €7
(1) @AH .

(2) SHaH

3) famRH

(4) md

fomifera @ - T Aa W

(1) SRR - =1
2) A - TR/

(3) ST -
4) g - He

Tt SiEfies saRal # ¥ i W fam A =

TR W T S § 2

(1) &M HH aEl & el @t 9 T &
ferg

@) w0 e & e o s & et o
% feg

@) s g s fawm & 9w fad war ®

(4) T fea g =t o A IR & fag
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Part II / 9T II

Mathematics / 7T

&/f(x) |x log, x|, x > 0, is monotonically | 51. f(x)=|x log, 2|, x > 0 f5 s # =k
decreasing in : BRI €, T - =t 753
(=
] R
o |7 @) e —
e
| @ @9 @ @9 ©
il @ ) @) =)
1 1
| J/(O'z) o (03 ~
I
1. V4
| 1
J I’ A N\
! 31 A\ _"-J
II!_ \_ﬁ/) Let T.( 0 <7 and ENW % < B< %HQT[
/ \/2cotﬂ+ sin29=1(-—cof9, 7 JZ cot§+ .128—1(”50*9%
i Sin
j then K is equal to : @ KSR §
1) 0 . 1) 0 ﬁ
B & ( ), 1
I kﬁz\"y F }9‘3(9' ., )\C/ Es)
i|-. @) 12 / (2 . \L_ q_/
Wl LS \[ 2 AN-S
| | <>
Il L \ '
| g
0l Y’Fﬁ(ﬁ
!;l; @4 -1 \X 4 -1
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- = =
c

Jnit vectors 4, b, ¢ are copla

. _) I
A unit vector/dds perpendicular to them.
1% 14
a X b & X = —: - —j + =k
/7 } %

— —
and the angle between g and b is 30°

_> 3
then ¢ is/are:

al M Fa
2+ j—k
ay |—5

(4 A A
+~:+2}—2k

2) s %O

o = —32;‘ + k .5g
N\, sh

a3

e eV ST Y B <7°>Q«;,)

3

54. Sum of the last 30.coefficients ofs,pm;&rs
of x inthe binomial expansion of (1 +x)>
is: ‘

(1) -28 "
(2) 259 929 -
RORE

(4) 229

\95./] Consider the differential equation,
ydx— (x+y2)dy=0. If for y=1, x takes

valug 1, then value of x when y=4 is :
‘,Q’X\ 16

() 36 .

o o &

(4) 9 =

\
_ | | B

\k%

(‘%«Lﬁg

(
(2)
(3)
(4)

(1+x)% % fgug yom # wft
*ara‘f%wﬁ:ﬁaﬂuht

MY
QCQ. 229 \‘5‘&'

258
dx (x + yz)dv-
=1 'a?ﬂ’l'll x W
xiﬂ'qﬁﬁ "

7 / f\.tu

;%

~
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x ) x :
(x)= 56. (x)=
If f(x T 6. dfe f L
f(@) /@) {
Ii= I x gl x (1-x)} dx and lis I x gl x (1—=x)} dx qen '
f(=) f(=2) '
f(a) f@)
I = J gl x (1-x)) d.x' I, = J glx (1-x)} dx ¥
f(-a) f(=a) 5
where ¢ is not an identity function. Then Rl ¢ U TeENE HEd ol ©, ?2“ EARSIC
1
I \‘
the value of I 8¢ C/ 3 Xi\ts N
1 2 \%\'
(2 1 4 !
G -1
@ 3 3
3 : 2
i | ’ A \
Il 57. Ifmsacomplex numbey ofruni | z‘}#ﬁ-'r QW%W‘[W]%HW
| I ' and argument 6, then |t Tk ' R 21 - %) z)
(1-37) ad L)
!l zZ(1+ z)
] .
Sl 2. ﬂ
| 0
—2 5] 2 -
(2) i
0
2. ¢os” —
(3) cos” 5 ¥
6
1+ cos —
(4) €05 2
I 58. Let fix)=(r+1)>~1, x> ~1, then the set | 58, TR fiv)=(x +1)2~1, x
I A s f)=f~1x)) - o f)=f~1(0)) :
':il‘: (l). contains exactly one element 1 *# Fae U TaUd
[' (2) contains exactly two elements () Y Fae ) TTAT &1 -
I (3) contains more than two elements. @) #A } Ifye sgag
I (4) is an empty set 4) T o T B
| -L/Page 16 SPACE FOR ROUGH WORK / T® &4 & fog sne
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jo (2"~ 1) and log;o (2" +3) are | 59. % fom w1 % AT log, 2, logo (28— 1)

"tive terms of an A. P. for: | ?fﬂ’(logw (2*+ 3) TF GHIGR 481 & A AT
e - 'E?
agtiy one real x (‘_L m T e 7 F fag |
* exactly two real x ' (_\ %2 m fl grafers Wl % faw)

I3
more than two real x. (.‘\}‘/ %ﬂf"ﬂ? | & ﬁﬂl
o9 <4m§1 it
et p and ¢ be any two propositions. 0. trr=n m&{ﬂ%ﬁ w

tatement1: (p > gq) & gqv~pisa

tautology.

Statement 2 : ~(~pAg) A(pvg) & pisa
fallacy.

(1) Both statement 1 and statement 2 are
Ryix false,

(2) Statement 1 is irye and statement 2
is false. '

4 false and statement 2

=,

"n)t:ig{rid Zs;sgment are

\
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62. A Dbiased coin with probability
p, 0<p <1, of heads is tossed until a head
appears for the first time. If the probability
that the number of tosses required is even

is 24, then pis equal to
o X
@ WU
@ %
@
/

.,66./ If the roots of the equation
1 1 1

f—p =

x+p x+q° r

are equal in magnitude
and opposite in sign, then the product of
roots is : '

1) —;— (p*+q%)

@) —%(p%qz) '
@) - % P*~q%)
@ (PP +q)

64. If the mean and the standard deviation of
10 observations xy, x, ...... s Xqpare 2 and 3
respectively, then the 'mean of

62. T ifyqa fagwr, faad fau am &1
WHal p, 0 < p < 1%, T T STl il %,
4 9% % gt wR fow 7 e 9fe o
T YATHT T &A1 FH B4 &1 I

%é%?ﬁpamﬂ%:
M W
@ Y

64. e 10 Femvil “op 0 & A T
3 : artyp 2, @
A Lo+ 1) T H1EA

AL

(% +1)2 (xy+1)% .oeoer (¥g9+1)? is equal
to: (7
(1) 144 (1) £ 4.4 ey
2) 16.0 2 160 <Y
T (3) 180 (3) 18.0
(4) 13.5 4) 135
L/Page 18 SPACE FOR ROUGH WORK / T% &1d & fag =g

collegedunia




1= 5 sin?
+ C , then | 65. '*‘-Tﬁq'f 5551n2x_

cos™ x sin
fx) TR

1"’3"\'&‘?‘1 ‘ (1) cosec x

dx = ﬂ:) +C %, @
x“l_,..,l cos™ Xx

< 5 gL
TR b s o
G h @) cotx iy Y
w ‘i:u 0 i <~
(3) —cotx ;
(4) —cosec x
o ()SO ] ;
The area bounded by the curves y2=12x | 66. TR y?=12x T 22 =12y W% 'fé:t XPEag
and x2=12y is divided by the line x=3 in 1, Y@ x=3 50 WA e 1w
T 1 & (T A A) ¥

two parts, The area (in square units) of thef.

larger part is : ..,
® % )
®

€) 2454

4 147

Yot
Ja Vo —
0@7}(%%,’&.%\(;,‘2%
A - 4

—4 y-2 z-X\ =
67. If the lines s = =Z and | 67. 3fg w@nd =

1 1 3 1
‘:; f = y_;r_g = % intersect each other, then % - 1—;—2 - i o vhed ¥, 9\ e
1 X lies in the interval : Sierret H feerd &, 7"3% %9‘._.\'))& 0
1) (13, 15) 1 (1315 ‘}(3‘"’-) o
) (11, 13) (2) (11, 13) Bl
(3) ©,11) 3 (1) N2 2
@ (-5.-3) @ (-5-93)
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68. LetP be a point in the first quadrant lying | 68.
on the ellipse 9x2+16y?=144, such that 9x2 +16y2=144 W Teog & qon <1l g &
the tangent at P to the ellipse is inclined at feig P ox = 75 vl W@ x-3180 1 geHE |
an angle 135° to the positive direction of faan & W9 135° F F FR L, AP F |
x-axis. Then the coordinates of P are : ﬁé‘m g
8 77 8 77
(1) [g : T} (1) [; / TJ
4 3 4 3
o [#3) o (43
16 9 16 9
o (33 o (53)
r(J143 1 V143 1
9 [TZ] i [T z]
69 Suppose that six students, mcludmg 69. HMIB: ferenttef, o my e o whwfem
' X, .Madhu and Puja, are having six beds %, ¥ U TS Ui Y Elaﬁ?ﬁ B: fawt €1
arranged in a row, _Further, suppose that £371% Y, ST % e oren foay 81 = e, o
Madhu does not want a bed adjacent to b o adel 4 g fawe faenfeldl = fd’Q il
Puja. Then the number of ways, the beds THA T, T GEAE
can be allotted to students is .
(1) 480 ) (1) 480
(2) 600 (2) 600
(3) 384 ' (3) 384
(4) 264 (4) 264
70. If the point (p, 5) lies on the line 70. afs fag (p, 5) T @ W feer TS Y-S %
parallel to the y-axis and passing through gHTAR 2 qen I@ret
the intersection of the lines 2(a2+1)x+ by + 4(a3 +a)=0 T
2(a2+1)x +by+4(a®+a)=0 and (a2+1)xv3by+2(a3.+d)=0$'9ﬁ1@'€ﬁ§
(a?+1)x—3by+2(a® +a)=0, then p is q B A B, @ p FHAA D :
equal to :
1) —3a (1) —3a
(2) 2a 2) 2a
(3) 3a (3) 3a
4) —2a 4 —2a
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ol § = s

iy R ol .
?x) = (x =p)(x —q)(x —r), where
q.< 1, are real numbers, then the
lication of Rolle’s theorem on f leads

(p+q-+r)>> 3(gr+m+p)
(p+q+n)%< 3(gr+rp+pa)
(p+q+r)(gr+rp+pg)=3
(p+q+ r)2='3\(‘f;r: +pr +pq)

The locus of the mid points of the.chords

of the parabola x2=4py having slope # is

a: fj

(1) Iinef’;;arallel to y-axis at a distance
|2pm| from it.

(2)‘ line parallel to.y=mx, m=#0 at a

© distance [2pm| from it. .

radius |2pm|.

L%ﬁ‘“)

(4) line parallel to x-

|2pm| from it.
2 if |x| >2
73. Let f(x)={ [ ,

a+ bx® if |y <2

then f(x) is differentiable at x= —2 for :

(3) circle with centre at orig_if;)l)ﬂic—.

r

) (tn,\‘:f &

71 AR f)=(x—p)(x —q)(x =) T V&
p < q < rarEfas g € @ g, (%
e o/
=7
(1) (p+q+nr?%> 3(gr+rp+pg) (]/0\6‘
@ (rqrrP< S(qr&ﬁg% =
(3) (p+q+n)igr+rp+pg)=3
4)  (ptq+n?=3(qr+rp+pq)

72. WEEA x2=4py & Sfenedi, fSTat 81l m %,
% qeg foigen @1 fog vy -

(1) "@?@%Gﬁy«m%m%we@
[2pm| Y T W B

(2) y=mx, mz0 F FHIQ @I % o SE

|2pm| =t g8 W R

W g & o #hs T fafg & aun e

sy 12pm| ?1

T 3@1 2 ST x-3181 & AR & 9971 399
2pm| Y T W B

- bo Mg x| >2
73, wen f(x)=1 [l
a+ bx* AR x| <2

T WM x=—2W fx) FaHAE 8, A< :

' 1 1 1
. . b= — =— —T[Ab=—
5 (1) a 4 and b 16 . - (1) 4 4 16
1 y 1 1
(2) «a 3 and b 1 (2) =«a 4 16
3 1 3 1
=Zandb=— =ZqMb=—
(@) =@ 7 T (3) =4 4 16
3 1 3 1
=Zandb= — — =2 b= — —
4) 4 4 o 16 (4) & 4 16
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74.

76.

" the boundary. If the chord AB subtends

- (3) x+yt—6x—4y+4=0 0}

A vertical pole stands at a point A on the

boundary of a circular park of radius 4 and
subtends an angle « at another point B on

an angle « at the centre of the park, the
height of the pole is :

(1) 2a cosg— tana
2
.o
2a sin— cota
) 5
(3) 2a z:osE coto

¥ :
4) 2a sin% tana

If a circle has two of it
the lines x+y=5 and x—y=1 and has

ameters along

area 9, then the equation of the circle is g_ﬁ

(1) x?+y’—6x—4y—4=0 o
-2 2 s
xt+y-—6bx—4y+3=0

y y /i:

(4) x2+y?—6x—4y—3=0

Let N be the set of natural numbers and
for aeN, aN denotes the set {ax : xeN}.

1f bBN neN=dN, where b, ¢, d are natural
numbers greater than 1 and the greatest
common divisor of b and ¢ is 1, then d

equals :

(1) min{b,c}
(2) be

() btc

(4) max{b,c}

74.

75.
Vv y=1% erafew § qen fora S 9 d,

a F331 A1t T it ek 6 i ug
foig A W Uw SwEfeR @ren @el € S iy

4 24 sz'n ??b
qii-ch |
Ife Tw g9 & q A WS x+y=5ad

3T I R THE T
1) x2my’—6x—4y—4=0
) xf+y?—6x—4y+3=0

2§ 3) x2+y?—6x—4y+4=0

76.

(_617 (4) x?+y?—6x—-4y—3=0

M1 N YIFd Gemsil &1 w9 § 991 aeN &
feTT aN T8 {ax : xeN) TUMI T

IfE bN N cN=dN &, S& b, ¢, d 18 =g
W @AY & 91 b 991 ¢ 1 TEaH GHIIEd S
1%, @ d IR T :

(1) min{b,c}
2) be
3) b+c

(4) max{b,c}
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ﬁa-ble plane is at a constant distance
1 the origin O and meets the set of
ngular axes OX; (i =1, 2, 3) at points
=1, 2, 3) , respectively. If planes are
awn through Ay, Ay, Az, which are
parallel to the coordinate planes, then the
i':;)cus of their point of intersection is :

it 8

78.

& o1 9Had efeg O ¥ TF =R ¢ p W
OX; (i=1,2,3) % fEgati A, (1=1,2,3) W
waw: girede & B AR Ay, Ay, A3 @

ey gadal & IR 99ad @iE §[ €,
ST widesE foig w1 feig var ®
1 1 1 1
=
O g L4
i 1 1 1
— + = + 5 =—
@ x5 5 g

B) 2+ 2 + G =p

..1_+ 20 _—l
@) e

afg urpd wemel & §=E N & fag

0 1
ENRIC A It

Sk=(1 k], keN %, @ neN & fag

@) Spry g
@ G,
@S-«

(4) 5211 + k-1

m 7
E 1,141
@ X1 X2 | x3 7P
1 k
78. If S =(0 1) , keN, where N is the set of
& natural numbers, the'p (S (Sy) ~ L, for
nel, is : \
et
RE
@) Sy g 1 =
() Sp_,
(3) Son — k
(4) Sun+k-1
' L/Page 23
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